73.1

1)

2)

3)

4)

5)

Expand and simplify 3(4a — b) + 5(2a + 3b)

Work out 3432 + 24

Work out 27000 = 30

Complete 6.3 litres = .......... ml

Work out 7.61 x 3.7




73.2

1)

2)

3)

4)

5)

Round 60.79482 correct to 2 decimal places

Solve the equation 5(2x — 6) = 17

Workout23 —3 x4+ 1

Evaluate 42 + 43

Work out % of 222




73.3

1)

2)

3)

4)

5)

Expand and simplify 2(3a — 4b) + 3(2a — b)

Work out 7471 + 31

Work out 300000 + 600

Complete 2.4 litres = .......... cl

Work out 4.28 x 5.1



73.4

1)

2)

3)

4)

5)

Round 345.678 correct to 2 decimal places

Solve the equation 3(2x — 5) = 27

Workout7 +3 —4 X 2

Evaluate 3% + 33

Work out g of 345



73.5

1)  Expand and simplify 6(a — 2b) + 4(3a + 5b)

2)  Work out 5616 + 16

3)  Work out 450000 + 200

4) Complete68cl=.........ml

5) Workout 76.2 X 4.9



73.6

1)

2)

3)

4)

5)

Round 283.5023 correct to 2 decimal places

Solve the equation 5(2x + 5) = 27

Workout8 X 10 —6 =+ 2

Evaluate 43 + 33

Work out % of 765
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